25 18



31 1,010
H20 ! H25 25 +B-A
17 17 0
337 324 Al2
51 53 3
335 324 A10 A27 ki
169 177 9
134 113 A20 30.0-25.5
1,041 1,010 A3l







17

B )
H20 H25 27 SE
15 15 0
1 2 1
H22.7 H23.7
17 17 0
1,976 < (kW) 436 (988 )< (kW)
1,976 < (kW 436 (988 )< kW) < (0.167)
(kw)
(kw) 9.8( )< =<
(kw) 9.8( )><( )<
40 10 1

40 9 30




12 324

H20 ! H25 25 +B-A
43 43 0
51 34 Al7
39 40 1
3 3
64 63 al
34 31 A3
90 03 3
15 17 2
337 324 Al2




o 53
A B .
H20 Ho5 27 :B-A
2 2 0 41 360
84
2 2 0 600 7/
0.25
1 2 1 A
4 3 Al 0.3
13%
31 32 1
12%
5% (22,600 / kw/3
3 4 1 1 o5
8 8 0
51 53 3

N

H25.6.1




o
25
H24.12.19 H25.6.1
H21.4.1 H26.3.31 H20.6.1 H25.5.31 H25.6.1 H30.5.31
12
13 12

22,600 / kW/3

H25 27 16 16

H26.4.1



o 0.375 /kWh
o 10 324
kWh /kWh
A B )
H20 H25 27 =Ba
a 892 865 A27
879 853 A26
b 0.375 0.375
axb 335 324 A10

><0.375 /kWh




(@)
o 177
H20 ! H25 25 +B-A
a 13,748 15,091 1,343
b 936 1,003 157
c ab 12,812 13,998 1,186
d 1.317% 1.267% A0.05%
c><d 169 177 9
(@]
(@]




o 20 113
A B _
\ H20 Ho5 27 -B-A
473 473 0
b ax50 237 237 0
36.09 32.37 A3.72
30.0-.25.5
d b c 370 350 A20
d>c 134 113 A20
(0.9
>
25.50
20.28
10.00 H24 H26




23

H11.12.2

35%) 237 350T 237 L |

113 113

b 23

—T 90

= 237>+ 1- <32.37%>) = <237>= 1- <32.37%>)
= <350>>< <32.37%> = <350>=<20 > <32.37%>
32.37 = <350>><80 <32.37%>




H20 H21 H22 H23 H24 H25 H26 H27 H25  H27
440 439 438 436 426 426 425 425 425
396 379 364 350 316 303 292 287 294
412 443 512 528 519 534 531 523 529

1,248 ( 1,262 | 1,314 1,314 | 1,261 | 1,262 | 1,248 | 1,235| 1,249

H20 H21 H22 H23 H24 H25 H26 H27 H25  H27

3) 4 4 4 4 4 4 3 4
3) 5 5 3) 4 4 4 4 4
6 6 6 7 8 9 9 10 9
16 16 15 16 16 17 17 17 17




